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QUESTION 1

View the Exhibit.
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Refer to the exhibit. A customer has an HPE ¢7000 enclosure managed by HPE OneView with HP BL460c Gen9
servers in a vSphere cluster. The customer has multiple vLANs trunked from the top of rack (TOR) switches to the
Virtual Connect modules in the enclosure. Due to network Access Control List (ACL) requirement and guidelines from
the networking department, all network traffic should be forced to an upstream switch using the Virtual Connect "Private
Network" feature.

The customer reports slow network response.

Which modification can the architect recommend to improve network performance?

A. Change the FlexFabric 20/40 adapter modules with Flex 10/200 modules.

B. Change the FlexFabric adapter modules with Flex-10 adapter modules.

C. Remove the Management network from the uplinks.

D. Put the vMotion network in a separate uplink set and disable "Private Network".

Correct Answer: A

QUESTION 2

An architect is choosing between 1GbE and 10GbE connectivity for an object storage solution. What is a valid reason to
select 10GbE?

A. The customer\\'s network infrastructure is based on QoS service.

B. The customer needs the system to recover quickly from a failure.

C. The customer needs the object storage servers to be able to locate random data on a disk more quickly.
D. The customer plans to increase the memory in the nodes in the future.

Correct Answer: C
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QUESTION 3

A customer plans to develop scripts that use the REST API for HPE OneView. However, the customer is concerned
about the complexity of the scripts. Which tool can be used to adopt the HPE OneView REST API quicker?

A. HPE SmartStart Scripting Toolkit

B. HPE Operations Analytics for HPE OneView
C. HPE Python library for HPE OneView

D. HPE iLO4 using RedFish

Correct Answer: B

QUESTION 4

An architect takes the following notes during a meeting with a customer:

1.

plans to introduce an entirely new service offering to customers

2.

servers will be virtualized and will consume large amounts of storage space

3.

project is to operate in an isolated section of the data center with limited access to the corporate network
4,

need flexibility to grow quickly as required by the new service demands on the infrastructure
5.

has no repeatable process for firmware management

6.

concerned about how long it will take for the project team to become productive on the new infrastructure Which
solution should the architect propose to help the customer overcome all of its project challenges?

A. HPE BladeSystem solution with HPE 3PAR storage

B. HPE Apollo 6000 solution with HPE 3PAR storage

C. HPE ConvergedSystem 700 solution with HPE 3PAR storage
D. HPE Apollo 2000 solution with HPE 3PAR storage

Correct Answer: B
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QUESTION 5

A customer purchases a hyperscale solution based on the HPE Moonshot platform and needs a management tool is
suitable for this environment and meets the customer\\'s needs?

A. HPE Cloud OS for HPE Moonshot

B. HPE Helion Cloud System 9 Foundation

C. HPE OneView with HPE Operation Analytics plugin
D. HPE Insight Cluster Management Utility

Correct Answer: D
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